

117 East Columbus Avenue Suite 100 • Bellefontaine, Oh 43311 commissioners@logancountyohio.gov (office) 937-599-7283 • (fax) 937-599-7268

# Joe M. Antram • Mark A. Robinson • Michael E. Yoder

David Henry, County Administrator david.henry@iogancountyohlo.gov 937-292-4008

DeDe Doss, Clerk Administrator ddoss@logancountyohlo.gov 937-599-7284 Jenny Richardson, Human Resources Director jrichardson@logancountyohio.gov 937-599-7280

Resolution No. 72-24

The Logan County Board of Commissioners met in regular open session on this date of March 19, 2024 with the full board present.

Mr. Mark Robinson moved that the following resolution be adopted:

#### RE: AWARD BID TO SHELLY COMPANY 2024 COUNTY PAVING PROJECT-ENGINEER

WHEREAS, bids were received on March 12, 2024, for the 2024 County Paving Project, and

WHEREAS, one bid was received from the Shelly Company in the amount of \$1,753,719.00, and

WHEREAS, the bid has been reviewed by the Logan County Engineer and a recommendation has been made to accept the bis of the Shelly Company and enter into a contract for the same.

THEREFORE, BE IT HEREBY RESOLVED, by the Logan County Board of Commissioners to accept the bid of the Shelly Company in the amount of \$1,753,719.00 and enter into a contract for the same.

Mr. Joe Antram seconded the motion.

Roll call resulted as follows:

Mr. Michael E. Yoder, President

Mr. Mark Robinson, Vice President

Mr. Joe Antram, Member

I, De De Doss, Clerk/Administrator, hereby certify this to be a true copy of the proceedings as taken from the minutes of the meeting of the Logan County Commissioners on this date of March 19, 2024.

De De Doss, Administrative Clerk

# Received

# OFFICE OF THE LOGAN COUNTY ENGINEER P.O. BOX 427 1991 COUNTY ROAD 13 BELLEFONTAINE, OH 43311

MAR 14 2024

Logan County Commissioners

www.lceo.us

SCOTT C. COLEMAN, P.E., P.S. LOGAN COUNTY ENGINEER

March 13, 2024

The Honorable Board of Logan County Commissioners 117 E. Columbus Avenue, Suite 100 Bellefontaine, OH 43311

Re:

2024 County Paving Project

Tuesday, March 12, 2024 at 10:00 A.M. - Bid Opening

APPROVED BY THE BOARD OF LOCAN COUNTY COMMISSIONERS

Fax: (937) 599-2658

Telephone: (937) 592-2791

MOTION \_\_\_\_

2ND \_\_\_\_\_\_PER RESOLUTION#

DATED 3191AL

#### Gentlemen:

I have reviewed the bid which was received and opened in your office at the above date and time. The low and only bid of The Shelly Company appears to be responsive meeting all specifications. The bid tab is as follows.

	•	Amount	Method of Payment
The Shelly Company	Responsive Bid	\$ 1,753,719.00	Auto & Gas and Sales Tax

Therefore, I am recommending that your honorable board adopt a resolution awarding the bid to The Shelly Company, 1700 Fostoria Avenue, Suite 200, P.O. Box 3100, Findlay, Ohio 45840, in the amount of one million, seven hundred fifty-three thousand, and seven hundred nineteen dollars, and zero cents (\$1,753,719.00) and enter into a contract for the same.

In accordance with ORC 9.24, we have checked the Auditor of State's Unresolved Findings for Recovery Database and the federal system for awards management. The Shelly Company was not listed and we have retained the certified search confirmation page in the project file.

Respectfully submitted,

Scott C. Coleman, P.E., P.S. Logan County Engineer

SCC/wtb

# Solicitation Information

# Logan County Engineer's Office

#### Solicitation Number

2024 - Logan County, Ohio - Resurfacing Program

#### Deadline

03/12/2024 10:00 AM EDT

#### **Advertised**

02/27/2024 10:00 AM EST

#### Description

Logan County Engineer's 2023 Local Funded Resurfacing Program. Bid Request is for resurfacing various county roads throughout Logan County.

Estimate: \$ 1,617,069

### Location(s)

Logan, Ohio

# **Bidders**

Business Name	Address	Phone
Shelly Company - Northwest	1700 Fostoria Ave Findlay, OH 45840-6240	(419) 422-8854 x3401
1 Bidder		

Item	Quantity	Shelly Compa	ny - Northwest Extension	
County Road	<del>1</del> 11			
10 Tack gal	1,473	\$2.75	\$4,050.75	
20 404 LVT PG 58-28 ton	3,082	\$111.00	\$342,102.00	
30 Mill Butt Jaint ea	4	\$450.00	\$1,800.00	
40 617 Berm, Type A ton	643	\$40.00	\$25,720.00	
County Road	44			
50 Tack gal	918	\$2.75	\$2,524.50	
60 404 LVT PG 58-28 ton	1,923	\$117.00	\$224,991.00	
70 Mill Butt Joint ea	2	\$450.00	\$900.00	
30 317 3erm, Type A	383	\$45.00	\$17,235.00	
County Road	15			
00 Гаск gal	376	\$2.75	\$1,034.00	
100 104 LVT PG 58-28 on	787	\$117.00	\$92,079.00	
I 10 Mill Butt	1	\$450.00	\$450.00	

item Quantity		Shelly Compa	ny - Northwest Extension
		FIECE	LAIGHSION
Joint ea			
120 617 Berm, Type A ton	161	\$45.00	\$7,245.00
County Roa	d 152		
130 Tack gal	1,048	\$2.75	\$2,882.00
140 404 LVT PG 58-28 ton	2,196	\$111.00	\$243,756.00
150 Mill Butt Joint ea	3	\$450.00	\$1,350.00

Item	Quantity	Shelly Compa Price	ny - Northwest Extension		
County Roa	d 152				
160 617 Berm, Type A ton	406	\$47.00	\$19,082.00		
County Roa	d 10				
170 Tack gal	1,473	\$2.75	\$4,050.75		
180 404 LVT PG 58-28 ton	3,084	\$111.00	\$342,324.00		
190 Mill Butt Joint ea	4	\$450.00	\$1,800.00		
200 617 Berm, Type A ton	482	\$47.00	\$22,654.00		
County Road	d 121				
210 Tack gal	1,318	\$2.75	\$3,624.50		
220 404 LVT PG 58-28 ton	2,759	\$113.00	\$311,767.00		
230 Mill Butt Joint ea	4	\$450.00	\$1,800.00		
240 617 Berm, Type A ton	610	\$40.00	\$24,400.00		
County Road	d 139		W - 4 - 12		
29 Items	Totals:		\$1,753,719.00		

Item	Quantity	Shelly Compar Price	ny - Northwest Extension	
250 Tack gal	194	\$2.75	\$533.50	
260 404 LVT PG 58-28 ton	406	\$113.00	\$45,878.00	
270 Mill Butt Joint ea	1	\$450.00	\$450.00	
280 617 Berm, Type A ton	75	\$40.00	\$3,000.00	
Temporary P	avement Markir	g p		
290 TPM mi	14.12	\$300.00	\$4,236.00	
29 Items	Totals:		\$1,753,719.00	